10FERE > FEFFEL P AL (ML EBRFES

\Fé‘
g
oy
R
)/
%
s
Y
4@
—

)| RN H Az ¥ ¢ 43 YRS AN ) %L
*4/24,25 ¥ | x5/17 Piag SR PN
¥ g L Z A+ t v
AR kP AL APRBERRIFLE > BN R e
T o — %*3/15-19 48 £ %6/16 = F 2 #w LH 2 PR ST - ‘I?'\§?1E
LEE | pRELLBE I BRI LR LR LY (L ,
) Kh— %) 83 4ER B - #5/15, 16 *6/17 #4548 3|
1 Sl ¢ % 6/18 3 115 BP0 5 S5 T ~ Bat B 2
%4/30~5/5 Flp 4 ESR LR K kA BRI AP TR FEFHFL
opg | FO/610 R LR *2;?61?;2 Ef s fheT - 0 B H
%@ *5/19 HF EF 2 EEHE T p 24 2 | x5/20-21 4% & :wn%ﬂ FE
il
. S M 09 % Ml () £ o xitaapfgmigge (PRI
(0280 %0 7 iten = 0z e 0 £6/18 ¢ = 12 Pt © R 318 3 e P e PAUREBRRIABAC
SR PR L) i)
> Ry Y B ARz 2
%6/15 + = 10 pr o2 o g% . e ek e - 4 e 1
2T e - ) . TRHERARSESE AT H#
sy | XD/13°5/19 wl E gl *5/20~21 4 ¢ *a/gﬁiuﬁ i T TR Yo
*x6/18 3R 3| {6 B 23 4% F'"fr' Y NPT S i
. *S/If wg j%;:fiffiiig ’ﬁJ;j A RES Y F P * A AR LP AP P A FH L
- e (2] = i ] ) B A -2 ’ ~ 4 33:\!-_) = : , e
IRE | RIBARIF oL REZEBRDE | y517-01 ® 1| %5/15,16 | ¥O/240/8 Y LAEE f0T o 0B
LA (R ? ep B L BagdE Ly | ¢4 *6/10-6/15 & E?s;%"ig
g (F L3008 M B 120 Ao i r F Qe | T T ’ *6/17&9004\ RREPXLZLFEREEH $T B gEA T 5/14 2
e B R LR S *W%Tiliwi&ﬂﬁﬁl‘&ﬁﬁﬁéi
*4&2ﬁ@awﬁ4%*%iﬁéﬁi + * 4/26-4/30 % REVCARFAFE 3P
3 g | FO/AB/2TE S SIRER LT *6/11 467 § 4 3422
B 1 3 *6/28 3| ﬁéﬁﬁ’» SHESRTEHF L F R BRE ¥ +5/15, 16 %6/24-6/27 K =43 ~ & N AFEE
: . s & = R 4%
. g 4 %6/30-7/1 # 1 £ *7/13 + = 11 practt

%6/29 ¥ £ HIRBMABB L LA AT LY

(F 4230~ @ My r = 92 2 Mggr ® () =)

R

*T/15 3 > F3 7
*T/19 w0 3R P18 B 2R &P F 80

Yy o M
B W
B8

*6/17-23 #&p 3 &

*FFRIBBRIFLLAS DRV L

Lo RELAEEI BT S B L

(5 2300 =@ Mgz » = 120 oMz r» 2 () ~o
e B LR PR

*6/24-7/5 &

BRESR 2

PRAR LR OB

z B w

7

<

»2/10, 16

IRy
e

*T/14 B3 354 5 2 5
*T/19 4R 3| 15 P 2§ B T B 1

%I B AT 5/14 0




110 F£AETF ~ Sk - AFZIEA

EEETHREGE —ER

ZRHE 110 EFRTHEES
i (PDF fE)

110 ST ErlE SR T FER
B ARG E(PDF 1)

110 BFEZ SR T HEE
T ASLRIE(PDF 1)

110 S SR T FERR
A BSRRE R 8 A S R A
(1= (PDF 1&)

110 BEEHEAERF & REA
B8 (PRI HE AR R =2 (PDF #%)

https://ppt.cc/ftocGx

https://ppt.cc/fosFax

https://ppt.cc/f50b8x

https://ppt.cc/flcApx

https://ppt.cc/fDLwzx

=]

O
#I-

D=0

110 B2 A EE R A
B2 (M5 R ¥ A= fE =5 (PDF £2)

110 SFE 2 L EE R A
S SRR ETE R A 2
G H)

110 PR 4R S i
BEER €732 B8\ (48
)

110 S EREE HRAEEE
8 3 tH A G E(POF £E)

110 FE S pg S ER P F R
AR A2 H) (2
GRELELL)

https://ppt.cc/fMzvPx

https://ppt.cc/ffvOpx

https://ppt.cc/TEWB6x

https://ppt.cc/fxLgRx

https://tn.entry.edu.tw

O
3

(o] el



https://ppt.cc/ftocGx
https://ppt.cc/fosFax
https://ppt.cc/f5ob8x
https://ppt.cc/fIcApx
https://ppt.cc/fDLwzx
https://ppt.cc/fMzvPx
https://ppt.cc/ffv9px
https://ppt.cc/fEWB6x
https://ppt.cc/fxLgRx
https://tn.entry.edu.tw/

